
M1 ISC  

FI 
ENGLISH TEST                                                                                                                                                         / 20 

  

SURNAME : 
 
 

Date: 24th October 2022 

 

 

① Conjugate the verb with the correct tense: present simple (habits – likes), present be + 

ing (now), present perfect (connection past / present) or simple past (finished situation). You 

may have to use the passive voice. (6 pts) 

James Young (=he)…………had………(have) a terrible train accident in 2012. He ………didn’t die….. 

(not die) but two of his limbs ………………were amputated……..…………(amputate). A few years ago 

he ……………saw……… (see) an ad on the wall of the clinic. A gaming company was looking for a 

gamer amputee. James was selected and a few months later a designer ……………helped…………… 

(help) him create his own prosthetic arm.  

Since then his everyday life (= it)……has changed….(change) a lot. He …………………has worn / has 

been wearing…………….(wear) his prosthetics for 6 years now and he can do many things as well 

as before his accident. He ……plays ………(play) video games even better! But he ………………drives 

…………………(drive) to work because he …………………doesn’t want......………(not want) to take the 

train. 

Look at the documentary ‘Metal Gear Man’! In the interview James ……is 

explaining……………………………………… (explain) how happy he is. And many people who ………are 

talking……(talk) to him in the street are really impressed.  

 

② Complete with ‘used to + Verb (passé)’ or ‘be used to + V-ing (habitude)’. Transform the 

form of the verb if needed.  (2 pts) 

1/ I ______am used to having___________ (have) eggs for breakfast. I love them and they are 

very healthy. I have 3 every morning!  

2/ James Young _______ used to go _______(go) to work by train before the accident. 

 

③ Transform sentence 2/ from ② into a negation. (1 pt) 

James Young……………didn’t use to go ……………………to work by car before the accident.  



 

④ Complete with a relative pronoun. Don’t use THAT. Write Ø when it is possible. (4 pts) 

1/ The movie ……… Ø / which ….……… I watched last week was very good. 

2/ That’s the boy … Ø  / who ………………..I invited to the party. 

3/ Apple is the company ……which ………………sells iphones.  

4/ The engineer ……whose …….……… invention is revolutionary will get the prize.  

5/ The truck ……which ………….. ran into a tree is now broken. The man ……who ………..…… was 

driving that truck is dead. Look! This is the place …where …… the accident happened. 

6/ The computer ……which ……………………………was stolen was Mike’s! 

 

⑤ Traduis en anglais. (2 pts)  

- Anna a travaillé chez Safran pendant 10 ans.  

Anna worked at/ for Safran for 10 years.  elle n’y travaille plus  

- Elle travaille chez Dassault depuis 2 ans, depuis 2020.   

She has worked / has been working at Dassault for 2 years / since 2020. ………………………… 

- Anne travaille chez Dassault mais cette semaine elle ne travaille pas.  

  Anna works at D. but this week she is not working.                                    

 

 

⑥ Ask a question to get the underlined elements from Elon Musk’s biography. (4 pts) 

1/ ……What did EM sell in 2002. 

……………………………………………………………………………………………………………?  

Elon Musk sold Paypal in 2002.  

2/ ……How many companies has he created………………………………………….?   

He has created 6 companies.           

3/ ……Where does he work…………………………….?  

He works in the USA.            

4/………Who welcomed twin babies with Elon Musk in November 2021.………….? 

Shivon Zilis welcomed twin babies with Elon Musk in November 2021. 

 

 



 


